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Part A
Answer all questions on this question paper itself.

1. The bill for the monthly phone usage of a household is 1500 rupees. 180 rupees is added
to this as VAT. Accordingly, find the percentage that is charged as VAT.

2. Find the value of x according to the information given in the figure.

o 110°

3. Solve:

m|___
=

1]
W

=
|

4. It has been estimated that four men will take 6 days to complete a certain task. If two more
men joined this group after they had worked for 3 days, in how many more days can this
task be completed?

5. 1In the figure, ABC is a right angled triangle. A _—
Find the value of x according to the given information. \
8 cm i
B 6cm C

6. Find the least common multiple of the following expressions.
3x, 2xy, 4y?

7. Information relevant to the motion of an object travelling at a uniform speed is shown below.
Distance (metres) 0 4 8 12 16

Time (seconds) 0 2 4 6 8

(1) Find the speed of the object in metres per second.

(ii) Find the time the object takes to travel 22 metres at this speed.

_ L

[see page three
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8. Shade the region that represents A'MB in the given €
Venn diagram.

9. The centre of the circle shown in the figure is O. Find the value of
x according to the given information.

10. If log,b=c, underline the correct statement from the following statements.

i c*=b (i) a*=b (iii) b°=a (iv) ct=a

2
11. Simplify: i;xg—i

12. A portion of a grouped frequency distribution is shown here.
For the interval 11-15, write

(i) the upper class limit, class interval frequency
5-10 2
11-15 3

(ii)) lower class boundary. 16—20 5

13. In the parallelogram ABCD, AB=12cm and the area of triangle BCD is 48 cm®. Find the
length of AP.
A B

| ]

[see page four
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14. AB is a vertical post located on a level ground and P and
Q are two points on the level ground as shown in the
figure. The top B of the post AB when observed from QO
is seen with an angle of elevation of 70°. When observed
from B, the point P is seen with an angle of depression of
50°. Represent this information in the figure.

T
(g
b

15. Find the third term of the geometric progression with first term 6 and second term —12.

16. Q is the midpoint of the side AC of the triangle ABC shown in the figure. AQP=Q€‘B= 90° .

(1) Name an angle equal to APQ . c
Q
(ii) If POQ=4cm, find the lenth of BC.
A P B
17. A right prism with a right triangular cross section is shown in figure (A).
Select and underline the figure which is not the shape of a face of the
prism.
: . L7
@) (i1) (i) Figure (A)

18. One factor of the expression 2x?+3x+ 1 is (x+ 1). Find the other factor.

19. A circle with centre O is shown in the figure. Find the magnitudes
of the following angles according to the given information.

(i) ABC

(i) ADC

L

[see page five
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20. Find the
(i) gradient

(i) intercept

of the straight line which passes through the points (0,2) and (5, 2).

21. The digits 2, 2, 3, 3, 4, 4 have been written on the six sides of a balanced die. Find the
probability of a side with a prime number written on it falling face up when this die is rolled.

22. The points P, O, R and § lie on the circle with centre O. The
side SR has been produced to 7 and POM is a straight line. Find
the value of y according to the information in the figure.

T

23. The arc lengths of the sectors of circles shown in figure (a)
and figure (b) are equal. Find the value of R.
45°

Rcm 7 cm
Figure (a) Figure (b)

3 3 4 4
24, If | 0 2 |+ 1 -1 |=] 1
-1 1 0 vy -1

k-

3
X
x

find the value of x and then. find the value of y.

25. The figure shows an incomplete sketch of a :
construction done to find the point P which is
Scm from the straight line AB and equidistant
from the points A and B. Complete the sketch
indicating how the location of the point P is
found. !

S s [see page six
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Part B
Answer all questions on this question paper itself.

1. A container of 5 litre capacity was completely filled with a soft drink. % of this amount
was used to serve drinks.

(i) What fraction of the capacity of the container was the amount of soft drink remaining
after using a portion to serve drinks?

(ii) % of the soft drink remaining in the container was poured into a bottle. What fraction
of the capacity of the container was the amount of soft drink left in the container
after that?

(iii)) Now, more soft drink was added to the amount of soft drink in the container until
the amount in the container was exactly half the capacity of the container. Express
the amount of soft drink poured into the container in litres.

2. The figure shows a flower bed conmsisting of a semicircular
part of radius 14 m adjoining a rectangular part ABCD.
Pebbles have been scattered in the two shaded rectangular
parts outside the flower bed.

(Take the value of m as -2;% 2

(i) Find the length BC of the rectangular part of the flower
bed.

(i) Find the area of the semicircular; part of the flower bed.

(iii) If the area of the semicircular part is equal to the sum of the areas of the two parts
in which pebbles have been scattered, find the length AB of the rectangular part.

(iv) Find the perimeter of the whole flower bed and then find the length of a rectangle
that has the same perimeter as the flower bed and breadth equal to the diameter of
the semicircle.

- J

[see page seven
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A certain urban council charges 12% of the annual
assessed value as annual rates for houses.

(i) The annual assessed value of the house Kamal owns is 15000 rupees. How much
does he have to pay as annual rates?

(i) Kamal rents his house out for a year for a monthly rent of 9000 rupees and receives
the total rent as a single payment. Find the amount that remains after Kamal pays the
annual rates and spends 8200 rupees on maintenance.

(iii) Kamal invests the remaining amount to buy shares of a company of which the price
of a share is 40 rupees. If he receives dividends of 7350 rupees at the end of a year,
how much does the company pay as annual dividends for a share?

4. (a) In a children’s party, a game of drawing a ball randomly from a bag of balls and without
replacing it, drawing another ball randomly, was played. In the bag were two red balls,
(R, R,), a blue ball (B), a yellow ball (¥) and a green ball (G) that were identical.

(i) Mark the sample space relevant to the above game in the given grid using the
symbol “X’.

(i) To win the game, it was required to first draw either a blue ball or a yellow ball
and then draw a red ball. In the grid, encircle the event of a child winning the
game and find its probability.

s T S

Second |
draw Bi---- e et EE TR
S A A

Rallwcu T e N SN

R, R, B Y G

First draw
b e _

[see page eight
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(b) A factory uses two machines named A and B to produce a certain type of toy. %— of
the total number of toys is produced by machine A while the rest is produced by

machine B. The probability of a toy produced by machine A being defective is % while
the probability of a toy produced by machine B being defective is 3¢ .

(i) Using the above information, extend the incomplete tree diagram given below and
include the relevant probabilities.

% machine A

machine B

(ii) Find the probability of a toy produced by this factory being without defect.

5. An incomplete frequency distribution showing information on the marks obtained in a test by
40 students in a class, from a possible total of 60 marks is given below.

Class interval | Frequency | Cumulative 40 A T PR R H]
2 35 1 T
g.30 | Saa25ass
10— 20 5 8 E . : EitapiEasssyean
20 — 30 14 2omb L
30 — 40 8 22 § s
40 — 50 12 E
10
50 — 60 6 40 &) i
) Fill i blhid\in\ie, t4BI P 0 p i 50
(a) (i) Fill in the blanks in\ the table. Marks

(i1)) Draw the cumulative frequency curve on the given coordinate plane.
(b) Using this curve,

(i) if a prize is given to the students who obtained more than 45 marks, find how
many students will be selected for it.

(i) find the interquartile range.
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